

$$(1) \int_0^{\pi} e^{-x} \sin x dx = \int_0^{\pi} (-e^{-x})' \sin x dx = [-e^{-x} \sin x]_0^{\pi} + \int_0^{\pi} e^{-x} \cos x dx = \int_0^{\pi} (-e^{-x})' \cos x dx$$

$$= [-e^{-x} \cos x]_0^{\pi} + \int_0^{\pi} e^{-x} (-\sin x) dx = e^{-\pi} + 1 - \int_0^{\pi} e^{-x} \sin x dx \quad \text{†1.} \quad \int_0^{\pi} e^{-x} \sin x dx = \frac{e^{-\pi} + 1}{2}$$

$$(2) \int_0^{\pi} e^{-x} |\sin x| dx = \sum_{m=1}^n \int_{(m-1)\pi}^{m\pi} e^{-x} |\sin x| dx \quad \text{--- ①}$$

$$\int_{(m-1)\pi}^{m\pi} e^{-x} |\sin x| dx = \int_0^{\pi} e^{-x-(m-1)\pi} |\sin\{x+(m-1)\pi\}| dx = (e^{-\pi})^m e^{\pi} \int_0^{\pi} e^{-x} \sin x dx$$

$$\downarrow$$

$$x - (m-1)\pi = x \quad \text{と変}$$

$$\frac{x | (m-1)\pi \rightarrow m\pi}{x | 0 \rightarrow \pi} \cdot \frac{dx}{dx} = 1$$

$$= (e^{-\pi})^m e^{\pi} \frac{e^{-\pi} + 1}{2} \quad \text{†1}$$

$$\text{①} = e^{\pi} \frac{e^{-\pi} + 1}{2} \sum_{m=1}^n (e^{-\pi})^m = \frac{e^{\pi} e^{-\pi} + 1}{2} \frac{e^{-\pi} \{1 - (e^{-\pi})^n\}}{1 - e^{-\pi}} = \frac{1}{2} \frac{e^{\pi} + 1}{e^{\pi} - 1} \{1 - (e^{-\pi})^n\}$$

$$\text{†2.} \quad \lim_{n \rightarrow \infty} \int_0^{\pi} e^{-x} |\sin x| dx = \frac{1}{2} \frac{e^{\pi} + 1}{e^{\pi} - 1}$$